158l rgade Gl Gl (e ed Pl pygdlaions 1 Riall
PP fim (x+1)(x* +4x-3)  tim 22 +42 x+1 gim 3% —x+3
1 Xz+21 -1 AT =

. .1 .1 |

£im —+5x fim — {im — £im —

:l_lm X :-:an x’ ::-an 15 :EL ©

tim XL ¢im ' +100 tim ' tim ¥

=+l x!—l X =4—t I IHtS

f ]

gim -3 % gim 6x* Jgaoan t i —t

TH— T+ S X ;H-mx’+13
tim (2x+1) tim — ¢im 3+/x tim =3

XD II-H-HJ; IR Irs—a xz

£ x+2 2im f—2f+x—2 tim le+3 #im 31:7'—2!—1
X2 X 2 11—4 -1 il x-1
Jim x-1 En‘.nﬁ #im x—1 tim 44—I—J4+I
:Ebl Z’—l a0 X z3l \I";—l x0 X

. 7 2 . ix . xX—3 . 3x+1

fm —+— £ £im —— £

I.'IEI.I—X x+1 :ﬁ l—x’ .Illj?z x-2 ::ll-.".l-:lil(.}l+2)2

tim | 2 |+ x tim (1-x)32% +3 tim {1-x+32) tim (52 —2x+3)
X2 X+HD I»—a I -+

. —x’+51’+x’—1 i 2 +x fim 4x+2x - 5 +x+1
X = x:+1 X :H—GTI" +x+1 xl—}+m3xg+le+l - I+2




